GSE Geometry 3 - Parallel Lines, Congruent Triangles & Proofs

Name: Date:

Complementary, Supplementary, Linear P&irs & Vertical Angles

Geometry Symbols:
o Angle £ or <X o Segment AB AB
— 0 T —>
e Degee |- oc WL ¢ . Ray CD
s Right Angle E or vt x e Line EF ©
Perpendicular l Measure ¥
® P ® i
Naming Angles:
C ¥ CAT ¥ K
¢ Name thisfa 4 different ways: % T AL -
y 5 ¥ X

\;(hkx IGIH h Ig——-) MUSH

e e .nhm 7 W
Naming Segments ‘M

. - ,_,__—_____; MA oR A M
o Whatis the name of the top side:
1op 3id

S—
re—
Angle Bisector M— - INEY 2 Sx= =
¢ Cutsan angle into TWQO, congruenfongl?Q " - D - O%
e Example: Solve for x: F\ o Gr! > .
\\‘ B o = <o
X
Linear Pair ( SUpple m‘"”ﬂwtﬁ) P

e Two angles that are side-by-side, share a common vertex, share a common ray, &

creote a straight.line.

e EQUATION: M« | + m<a = |0 ;”\
» Examples: Solve for x: o o o /;,; ¢+ S
o o - /
| /2 . /’D&
5 A —r ?
OX+S + 2x4S = 180
3 x4 /05 5D
g% = 170 T




GSE Geometry 3 - Paruliel Lines, Congruent Triangles & Proofs

Supplementary Angles

r

.* Twoangles that add up to i e EQUATION: MZ [ + m‘-S =180~

s Examples: Solve for x:

(e} (o}

-

o «Zxand zy are supplementary angles. mex = 47".. Find mzy.
me< >E_,+m¢j_-. 180" e 1-—37'
4+ may= 18D l J
o) One of two supplementary ongles is 46 degrees more tha than its supplement.

Find the medsure of both angles.
m<\y & m(-Q- "\‘ED
MLl = K =

m42= x+'-l-tp =\t3
Complementary Angles

e Two angles that addupto _A 0" . e EQUATION: M <l 4+ mep = 90°
A or [:L o X & T X

e Examples: Solve for x:

o @ne of twgggmn[em&nicry angles is 16 degrees less than its complement.
Find the measure of both angles.
ML +mea = gt ><+x v =90
MLl =X SX =10
ML 2 = X -\

Vertical Angles (Lo gruent )

e 2 angles that share a common vertex & their sides form two pcurs of opposite rays.
— A X CA CAN b N .

e EQUATION: MZL| = n< 8-'

e Examples: Solve for x: 7

“’ “+he a(\L) S nU't 3

(e



ID: 1

Geometry — Name
Intro to Angle Relationships Date Period
Name the relationship: complementary, linear pair, or vertical.
y, LP 2)

C

a
b
3) V
Find the measure of angle b.
5)




Find the value of x.

- c ) 7 7 8)
SB+uN+S T 90

Vﬁ( ‘%g%? "?c {_ﬁy — i; N .\)
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(6x + 5)°

10)

o e b BN

1) By = 13% )

129° /(x +8)°
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GSE Geometry Congruence & Triangles

Name:

Date:

Practice

Name the angle relationship: linear pair, vertical angles, or adjacent.

] 2.
\ ———
\b 2 A/a\
4 3.
™ o
\ 7/-6__‘ T
S /fa/
i ._A\\ ‘ / ;'.
F
)\ y
V AT

Use the diagram to jell whether the angles are vertical angles, a linear pair, or neither.

7.2 land 2z 2 L 8.2 land« 3 V
9.2 land ¢« 4 L— 10.2 1and 2 5 N
M. 1andz 6___N 1222 1andz 7 N
13.2 1land 2 8 N 14.2 2and 2 4 \/
Solve for x.
15. 16. |7 5
Q
\ x.\y
125° / x X 'x+60 +
[2C + ¥ =180 X 4 X 40 T8O o 4 = e
Xz 5S° Ox = 120 Pl +4n=LaD
{ = Lo A= 40

LT A




GSE Geometry Congruence & Triangles Practice

Solve for x.
18. 19. 20.
100° .
£ x
» . - Lx >60°
80°
X =100
‘9)( _ 2 - 90 B ¥ = O
jash S R TE Y= B0
X = A0
Use the diagram to find the indicated measure.
21. x= (2 2.x=_'C
mz ABD = _S4&” m< ABD = _| o\
ms DBC = _{2W mZ DBC= *19-
- f
D A -0 7180 D
— Dy =
(4x + 61\ (11x - 6)° S X l“’p (10x + 1?"1[9::— 1)
pr ; P X=19 y 7
A 125+ (OX + Lty -1 (DO
23 x= 4 | 94X -0tV
mz ABC = _48 (Y= 190
mesz DBE= _ 48 Y= (O
c 5p+28)° p




GSE Geometry Congruence and Triangles Homework

Name: W&l - lcc.q‘ Date:

Supplementary and Complementary Angles Homework

Name the figures described. Use the figure for 1-6.
Two acute angles. < ' £ 2

Two obtuse angles. £ 2 , 4“4

Two pairs of vertical angles. £ 1543 24 < L o
Four pairs of adjacent angles. £' ¢ 2, 41 ¢ 24 | ¢ 55 43 ,L35 L4
Four pairs of supplementary angles. e 4

Two supplements of ZAXC. < 2  aand <L A

O = Y =

7. Suppose Z1 and £2 are known to be complementary. If mz1 = 20°, thenm~s2="]0o.
8. Suppose £3 and Z4 are known to be supplementary. If m.3 = 40°, then m.24 = |40’

For problems 9-12, if £1 and £2 are complementary angles, state the numerical value
of x.

9. MLl =2x, m£2 = 3x 10. mZ1 =x, m£Z2=x+20
IX 4+ 2x =40 Y.+ Xty = A0
Sx =40 2x = 710
¥X=iB X =38
1T. m£l =2mZ£2, m£2 =x 12.mZ1 =30+ x, m£2 =40 + x
dmL 2 + L - Qo 204 £ 40 t¥ = 9o
2% + x A ox +7)0 =90
AX=a0 A= 3D 2x = 20 X= 10

For problems 13-16, if £3 and Z4 are supplementary angles, state the numerical value
of y.

13. m£3=2y, mz4=3y-15 14. m£3=y+10,m£4=3y-10
Ay 3y-1S - (80 (0% 3y-10=180
er(‘?S’ " “y =180
ld: Bq U: 4’6
15. m£3=5ms4, ms4=y 16. m£3=160-y, m£4=170-y
Smc4 +\j: [ 5O IGO0 - \j':t'l’io-tj:'tdo

g’]j_-k Lj':[SU 330 ~ 247180
w(_,‘.*[&) = —(So N
3 U= 30 >3 Yy=7s

oJ J




GSE Geometry

Congruence and Triangles

Homework

17.Two angles are supplementary. The
measure of one is five times the
measure of the other angle. Find

18.Two angles are complementary. The
measure of one is 4/5 the measure of
the other. Find each angle.

each angle.
MNZ 1= Smed> mLa= X ezl > ASmes> mMmed 3 .
. — — N L1 =40
Cx AR T8O z(SD Zx =90 o
kp{:\-bo Mme 2 = 20 __f'___x-_"Qo
X =30 < ¥ =Cb
Solve.
2 1= o "19. The measure of an angle is 30 more than its complement. Find the measure
m< 2= 30° of the angle and its complement.
ML) BDtmed> m~L2= X
o ¥ 4F =Re  DETED
S 20. The measure of an angle is the same as the measure of its complement.
Find the measure of the angle.
MLl —mey me3 = X
X+ X =90

MLz 80 21.

The measure of an angle is 20 less than the measure of its supplement.

MsL> = _J6D Find the measure of the angle, the measure of its supplement, and the
CoMPenrant-= (0 Measure of its complement. e
MLl ==d0 +tmed mML27 ’;’m
=1 15 & =LBbB X =
et X (0O

Maz-iop 22

- 20 T2% -Ll80
The measure of an angle is twice that of its supplement. Find the measure of

Ms3- O the angle and its supplement.
ML = 3 me> Lo = X
XXX T (80 y=L0O
M4D= 45 93 X1 BO . ~ _
1 . £D and ZE form a linear pair and mZE = 3m«D. Find the measure of
MLF 213BS each angle and the measure of the complement of ZD.

¢ ow\p\uwd‘ = 48

AKX 4X =[80 A= 4S5

4X=( &

24. Find all the missing angles given m~1 = 90°, m£2 = 34°, and m«£é = 137°.

ms3=_90°
mza= |40’
mss= |14’
mer= 3]
ms8= 4

t
qO.I 3 _-‘./54‘ o
|

: %




